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General Awareness

1 ball thrown upwards after reaching 80 m heights ball fall down then
what is the distance cover after 7 sec throwing the ball??

Which acid is used in digestion system?

Reproductive organs of flower

PH value of human body

NaCl is a Acid or Base?

Unit of Current? — Ampere

Chemical formula of Laughing gas?

Periodic table — 5 Qs

Gravitational Constant — 1 Qs

Chairman of AICTE? — Anil Sahasrabudhe

Host Country for Fifa Under 17 world cup — India

Kaziranga National Park — Assam

Outlook administer award — Naveen Patnaik

GST is applied in which month? — July

Which gas was used in World War 2 — Chlorine

When did India’s First Metro Start — 24 October 1984

Who invented Television? — Philo Farnsworth, Charles Francis Jenkins,
John Logie Baird

In which field R Ashwin has taken 300 wickets? — Nagpur

In which state PM Modi has inaugurated a Shiv Temple? — Abu Dhabi




Math

A and C can do a work in 10 days B and C can do the same work in 20
days, while the three ends up doing the same work in 30 days, then how
much work did B do alone?

10 men can do a piece of work in 12 days, then 6 men with half efficiency
can do 3/5th of the work in how many days?

Square root of 4096

A cube is cut into a cone. Length of a side of the cube is 7 cm. The height
and radius of the cone is 7am and 3 cm. What will be the remaining of the
cube?

Mensuration — 3 Qs

If r=h/2, then ratio of volume of cone and volume of sphere — 1:2

Age problem — 2 Qs

LCM of {15, 18, 46}

78% of an exam 18 780 marks, then full marks of the exam?

3715, 7,97

6.67*10M1 =7

A product is sold in 13% loss. If it was sold in more 49rs then 22 % profit
will occur. If we have to make a profit of 30 %, then selling price of the
product?

Simplification

Circle

Speed,Distance & Time

Trigonometry

Time & Work

Trigonometry

Percentage

Algebra




Reasoning

Syllogism

Figure Completion

Calendar -1 Qs

When will the 2020 calendar be repeated?

Clock - 1 Qs, In 2pm to 3pm in what time the hour hand and
minute hands will overlap?

Age Problem -2 Qs

Stick is pen, pen is ball and ball is bat, then Raman will write
with?

Coding and Decoding — 1 Qs

Statement Analysis — 5 Qs

Ratio — 2 Qs

A school should always have a teacher, Building, Library or
Headmaster?

Completion of sentence — 1 Qs

Odd oneout-1 Qs

Counting of triangles

Logical Reascning

Distance & Direction

Statement & Conclusion

Statement & Arguments

Calendar

Coding Decoding

Blood Relation

Counting of Triangles
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